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State Forest Service (Mains) Exam 2018

(Final Answer Key)

Science

Chemical formula of Bleaching powder is :
CaOCl,

CaocCi

CaClO,

CaOCi3

Which of the following is monomer of P.V.C :
Ethylene

Vinyl chloride

Acrylonitrile

Ethylene glycol

The chemical composition of ordinary glass can
be written as follows :

Na, SiO; . CaSiO3 . 4Si0,
Na, SiO3 . CaSiO3 . 6Si0,
Na, 0.CaO. 4Si0,

Na, SiO; . CaSiO3 . 2Si0,

Teflon is formed by polymerisation of the
following monomer :

CHy= CH>
CH>= CHCI
CF>= CF;

Ce Hs CH=CH,

Which of the following is amphoteric in nature ?
H,O0

HCI

NaOH

HNO;

The element having electronic configuration [Ar]

3d®.4s2 belongs to which of the following block of

elements:

ot 90l &1 e gF R
caocl,

Caocl

cacClo,

CaOCl;

... 95 & THaS § :
UGS

famsa FaRgS
LESIRIEHES)

TR TegdTa

TIYRY HId & IS TT6 BT FHUHER forar o
LI

Na, SiO; . CaSiO3 . 4Si0,
Na, SiO3 . CaSiO3 . 6Si0,
Na, 0.CaO0. 4Si0,

Na, SiO; . CaSiO3 . 2Si0,

Tuar Fafifed twae & agaidRu RISl § ¢
CH,= CH>

CH,= CHCI

CF,= CF,

Ce Hs CH=CH,

frofafed o feae! uefa Iugendf § 2
H,0

HCI

NaOH

HNO3

TH @ $1 SACD (97019 [Ar] 3d®.452 5, T T8
g s & @l ¥ TEfd 3
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s — block of elements
p — block of elements
d - block of elements

f — block of elements

Ores that are concentrated by Froth Flotation
method are :

Carbonate ores
Sulphide ores
Oxide ores

Phosphate ores

Neutralization reaction -

KOH(aq) + HC|(aq) %‘ KC|(aq)+ H20
is an example of which the following type of
reaction :

Reversible reaction
Irreversible reaction
Both reversible and irreversible reaction

None of these

Among the following elements which has more
than one oxidation states:

Sodium (Na)
Magnesium (Mg)
Iron (Fe)

Aluminum (Al)

T8 3P, OTTT Figur B e Ay gRI AT @

PIEAE AP
TAAPISS D
SHTRISS 3D
BIbe 3AH

JariHIBRr R -
KOH(aq) + HC|(aq) % KC|(aq)+ H20

7 3 fog yoR @ siftifpar g

IepHiY ifHfssar

SapHvIg Siffesar

3 Sopvita ok ergerviia aiftifsrar
9 & BIg el

g%%ﬁfﬁ%f$aaﬁq$i1aﬁmsﬂﬁﬁﬁﬂwaﬁFWﬁ

qfsaw (Na)
AR (Mg)
el (Fe)
Tegeifae (Al)
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According to Lewis concept of acid- bases, Lewis
acid are :-

Proton accepters
Proton donars
Electron pair accepters

Electrons pair donor

Galvanisation is a method of protecting iron from
rusting by coating with thin layer of a
metal,which of the following metal is used for
this purpose :

Copper
Aluminium

Zinc

ggaaﬁammawaﬁ&ﬁwvmésagaw,gsaamaﬁﬁ
et urgt

Wer grar

goag g el

gorag i g grdl

et U fafd § o dig &1 ST & &R0T AP &
T 39 W 41g BT ydeh Ud BT A9 3 S g,
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Chromium

What is pH of 10"*M NaOH solution ?
4

10

7

12

Which isotope of Hydrogen does not have
neutron in the nucleus :

1H!
1D2
113

None of these

Alkaline hydrolysis of oils and fats is called :
Neutralisation

Esterification

Polymerization

Saponification

Which among the following is strongest acid ?
HCOOH

CH3COOH

CH3 CH,COOH

CH3 CH; CH; COOH

Ortho and para hydrogens have:

Same physical properties but different
chemical properties

Different physical properties but same
chemical properties

Same physical and chemical properties

Different physical and chemical properties

When CH3MgBr (Grignard reagent ) is made to
react with formaldehyde and product is
hydrolysed, then which of the following
compound is obtained :

CH3CH,OH
CH3OH

10™*M NaOH faea &1 pH #F a1 82
a4

10

7

12

BIESIS & 5 GRS P e & YeiT 78 8l &

1H!
1iD?2
173

T A I TR

IS T T P &G S THeT HEA § -
CLGIRICRL]
TEAH
CEIEa|
GLERIE R

g O B gad SUe] Ued 3 © ?
HCOOH
CH3COOH

CH3 CH,COOH
CH3 CH, CH, COOH

3f 3R W7 BTESIoH A g 8
U Hifaw urenf weg Al IRmafae qoret

fafira ifae Tured ureg Tu IRImafae orert

T o vd e qored
fafira ifae ve Imafae orent

F§ CH3MgBr (RIR sifiieH®) & BrHceigss U
f3paT R4 B qUT 99 g8 SIS Y SIaeuHfed Bld 8,
@ Ffafed & ¥ o9 w1 3ife o 8T 3:

CH3CH,OH
CH3OH
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CH3COOH
CH3CHO

On passing CO5 through an aqueous solution of
Na»CO3 , the compound formed is :

NaOH
H,0,
NaHCO3
Na,O

Which among the following alloys contains
Tin(Sn) as one of its constituents ?

Stainless Steel
Brass
Bronze

German Silver

The electronic configuration of 3 elements (X, Y,
Z) is as follows :-

X=2,8 Y=28,7 Z=2882

Which is correct statement among the following :
X and Y both are metals

Y and Z both are metals

Z and X both are non metals

Y is a non metal and Z is a metal

Which has highest calorific value:
Charcoal

Cow dung

Wood

Biogas

Which is not the property of an ideal fuel:
It is a pollution free fuel.

It is a clean fuel.

Its calorific value is lower.

Its accidental hazards are lower.

which of the fallowing variety of coal contains
highest percentage of carbon:

CH3COOH
CH3CHO

Na,CO3 & Jag faaas & Co, 79 vaifed A R
frofifed afe s g -

NaOH
H,0,
NaHCO;3
Na,O

?ﬁ@ﬁﬁ%ﬁﬁ&r%@ﬁaﬁﬁq(smww
?

R e

Haa

1T
S RieR

I a@ (X, Y, Z) P 3Aae A FEHaR §:-
X=12,8
@ Frofifed & o9 o Sy el 8-
X 3R Y Y urgl §

Y 3R Z Y urgd @

Z 3R X 1 Ul §

YUS UG R MRz T Ui §

Y=28,7 Z=2,8,82
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Bituminous
Anthracite

peat

Lignite

Which one is non renewable source of energy:
Hydrogen

Natural gas

Biogas

Ocean

Which particle is missing in the following nuclear
reaction:

NY¥+ Het ——,0Y +.o.n ?

nnl

4e?

oV
,H

0

A nuclear reactor delivers a power of 109w .
What is the amount of fuel consumed by the
reactor in one hour :

0.04 g
0.08 g
0.48¢g
0.96 g

A radioactive material has a half-life of 8 years.
The activity of the material decreases to 1/8 of
its original value in:

12 years
24 years
48 years
64 years

The image of an object is formed by a convex
lens on a screen. If lower half of the lens is
painted black , the intensity of image becomes:

Half
One fourth

fagftm (sTrga) s
gdwTse
e

YT HrAem
(ferrrse)

Foif BT B T Wid TR T :

HESIER]
WIpfa® A9
IaN

g

Hr & gu fietg ufafesar & @ @1 &ur g 3¢
N¥+He* —, 0+ s

nnl

4e?

oV
,H

0

T TRATY RUFR 109 W RIS TaH & g1 R¥aex
TF °¢ | fova S99 T H:

0.04 I

0.08 I

0.48 7™

0.96 I

T e Tftha verd 3 g1 AW 8 ¥ g1 A g
® 39 yerd @t wfthad URMG Yo &1 1/8 ghf:

12 a9

24 of

48 a9

64 a4

T% g FT URIST 3T A GRT T Ud W &1 g1 3R
9 & AT BT ST UNT Ue GRI HIen R el o1,
g $1 cadm g1 See:
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Same

Twice

Maximum lateral displacement of the ray of light
incident on a slab of thickness t is:

t/4
t/3
t/2
t

The number of images of an object placed

between two mirrors inclined at an angle of 45°
are:

0 N o u

Total internal reflection takes place if light goes
from:

Water to glass
Glass to water
Air to glass

Air to water

A wire of resistance R is stretched to reduce its
diameter to half of its original value, The new
resistance is:

2R
4R
8R
16R

The resistivity of the material depends on:
Length of the wire

Diameter of the wire

Temperature of the wire

Material of the wire

The surface of a spherical shell is uniformly
charged. Then what is the electric field inside the
spherical shell:

Zero

gt

Rl
Hrers t 31 We R Y g v o1 f6von &1 siftiesan
e fawimoe ghm:

t/4

t/3
t/2

-~

T& a¥g 45° W Y& gU &l o & i H & §, 39
& foram ufafaq giv:

mﬂmmz

qut 3 TR BidT & SId YT S 8
o | ®ig |
Fig | g &
gAMA A
AT ¥ U |

UfRIY R & Us dR & 39 dg O Wi fo 391 oy
URIE T ¥ SfTeT 81 TR =71 UfoRle gR:

2R
4R
8R
16R

gerdf @t ufaRiedar fiRk adt &
IR B! TEE W

IR & o W

AR & qTIEE 1R

IR & uerdf W

T TMABR T B Tde AH ¥0 J 3k 8, ot
AR Wd & 3 fagad & ghm:

RISl
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constant

Infinite

fRr
3T

Proportional to the distance from the center &= 9 er * mﬂ'ﬁﬁ

Five equal resistances each of resistance 3(} are
connected as shown in the fallowing figure .The
equivalent resistance between the points A and E

C
30 30
30 N
O—ANVV-L—AN\ -
A B 5 D3 E
50)
8()
10}
15()

A battery of emf E and internal resistance r is
connected across the load R. When the current
flows through the resistance R, power is
dissipated in the form of heat energy. The

output power will be maximum when:
R=r

R =2r

R = 3r

R = 4r

An ac generator consist of a coil of 50 turns and
area 2.5m? rotating at an angular speed of 60

rad s'1 in a uniform magnetic field B=0.3 T
between two fixed pole pieces the resistance of
the circuit including that of the coil is 500(]).
What is the maximum current drawn from the
generator:

2.3A
4.5 A
5.2A
6.5A

A steel wire has a magnetic movement M. If the
wire is bend into semicircular arc, The new
magnetic movement becomes:

M
2M
2TIM

g SRR UfeRIy Udes &1 uferkry 3¢) g o & fewme
wwq@%lﬁgéamE$aﬁaﬂmuﬁﬁa%:

30 30
= TATA B dTATATE D ANN—D
A 30 3n E
50
80
10()
150)

TF Sedt et Sunuw(f3.91.90)E e sfiaie ufaRly r
g, AR ¥ BRI A I 71 fagad R o9 ufRy R ¥
yaied it 8, Wi Sy ot & =0 F &7 gt 2

Tfdd &1 HfHaH IATGH T o
R=r
R =2r
R =3r
R =4r

& T, S Hisfiga(PHsdt) 50 IaB adT 2.5m?

AFhd ¥ &1 81 60 rad s™! @ vy i F gAH
B &4 B=0.3 T # & R Ui & o § g7 @1
%luﬁuumuﬁﬁuaﬁ&m(gﬂ?ﬁ)ﬁﬁam 5000)
21 S ¥ sifipay fpat fagaa urT darR g

2.3A
4.5 A
5.2A
6.5A

& ©d P dR BT by M 81 3R dR &I
%ﬂﬁﬂwmﬁ%ﬁmaﬂwww

M
2M
2TIM
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=

An X-ray machine is operated at an accelerating
voltage V volts, then the minimum wavelength of
X-rays emitted from X-ray machine is:

eh
Ve

Ve
eh

eV

he

he
el

Calculate the energy equivalent of 1g of
substance :

3x1013 3
6x1013 3
9x1013 3

2x1013 3

Bile Juice is poured into the alimentary canal that
is necessary for the absorption of

Na and Ca
Fat soluble vitamins
Amino acids

Monosacchasides

Vermiform appendix of alimentay canal is made
up of

Digestive tissue
Respiratory tissue
Excretory tissue

Lymphatic tissue

The most effective colour of visible light spectrum
for Photosynthesis is

Blue
Red
Violet

Green

=

TEH-X HYH V diee P @R dledsl W HTH B @ 8,
I THI-X AR & It grad e ®:

eh
Ve

Ve
eh

el

he

he
el’

TF 9 Uerd & GHged Sl B TUMAT §:

3x1013 3
6x1013 3
9x1013 3

2x1013 3

TR B wfad Ry Ay uerdf & sra=ivor & ford
TS B-

Na U9 Ca

a1 ¥ o= faerta
fEEY st

LI R G

STERAT § Rud aeifpid siifes fod Sde A od 82
Ura® SHdd
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The function of ATP in the Photosynthesis is the
transfer of energy from

Dark reaction to light reaction
Light reaction to dark reaction
Chloroplast to mitochondria

Mitochondria to chloroplast

C4 cycle was discovered by
Hatch-slack

Calvin

Hill

Arnon

The process of Photosynthesis is
Exothermic

Endothermic

Anabolic

Catabolic

In the respiration of a plant, if the R.Q (
Respiratory quotient ) is 0.7, the respiratory
substrate is

Sugars
Proteins
Both (Sugars) and (Proteins)

Fats/oils

The incomplete break down of sugar in anaerobic
respiration results in the formation of

H,0 and CO,
Alcohol and CO,
Fructose and H,O0

Glucose and CO,

Trachea is the respiratory organ of following
animal

Cockroach
Star fish
Hydra

Pila

BT IZawur fopar § T. .. &1 Brf St 1

RYFT<RY B8l § Bl HAT §
ST Sifufhar & yer=r affssan
w1 AT A srveT=r sifuftean
FARIERE A ATgIHISaT
UESIHIIAT A FARITRE

-4 T B! I fod 7 D12
FT-WE

Fafa

few

SRA

THT TATOT B Ufehar gl 8-

T SWig

3 Iwflg

fFatorars

frgeara®

TH U & 494 | afe R.Q (4P HINid) 0.7 §, @
sy uerd g &-

BT

I

3 (Ih) SR ()
Ju1/dd
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H,0 Td CO,
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Blood carries CO, mainly in which form
Hb. CO,

Hb. CO

H,O0

NaHCO3

Hamburger’s Phenomenon is related to
Carbonic acid shift

Chloride shift

Hydrogen shift

All of these

Heart of man is
Cardiogenic
Neurogenic
Digenic

Myogenic

Erythroblastosis Foetalis can occur if marriage
takes place between

RH+ve man and Rh+ve woman
Rh-ve man and Rh+woman
Rh+ve man and Rh-ve woman

Rh-ve man Rh-ve woman

Genu and Splenium are associaled with
Cerebrum

Cerebellum

Medulla

Vermis

The cavity of mid brain is known as
Iter

Diocoel

Metacoel

Haemocoel

Cells of Islets of Langerhans in Pancreas that are

IR § CO, Jag JoI ¥4 I 59 & # giaT ¢-
Hb. CO,

Hb. CO

H,0

NaHCO;

SR Ufshar 39 § TG §-
Frai® T Riee
FIRTSS R

grsgIoH Rige
38 @ it

AW P1 §3d 39 UHR &1 8/l &-
HIf SN
IRAD

SETIRCY
L EIEIE G

TRE SRS Wierfer e A7 31 &g § el 89
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Rh+ve 3¢H! Td Rh+ve il
Rh-ve 3gH! Td Rh+ve Tt
Rh+ve 3gHI Td Rh-ve it
Rh-ve 3iGHl T4 Rh-ve it

W7 ud e oy 39 @ Iefa §-
afvew
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responsible for secretion of glucagon hormone
are

Alpha
Beta
Gamma

Delta

A man that takes large amount of protein in his
diet, is likely to excrete more amount of-

Urea

Uric acid
Sugar

All of these

Mendel did not recognize the linkage in his
experiment because

He did not have powerful microscope
He studied only pure plants
There were many chromosome to handle

Characters he studied were located on
different chromosome

If a fertilized egg of plant has 40 chromosomes,
the number of chromosome present in the pollen
mother cells is

20
40
80
60

An Octamer of 4 histones complexed with DNA is
know as

Centrosome
Mesosome
Nucleosome

Endosome

Expanded form of NIC is :

Network Information centre
National Information centre
National Informatics centre

Network Informatics centre

GRI T BT BT Fa0 Bl 2-

el

S 3reHt 3 HieH H 3ife 7B H WIS Ugur el
?1 98 IYad: 39 Uy &1 34 IeqoiT Bl 8-
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40

80
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Q.No: 68 Broad band is a convergence Technology for :

Super computer, developed by TATA Group, Pune TTel ¥Hg GUI (YRd) §RT FdeR 2007 ¥ faewRa fasan

(India ) in November 2007 is :
Eka

Cka

CDAC

None of these

210 Byte is equal to :
1MB
1 KB
1GB

1TB

Which of the following is a first Generation
Computer Language?

Assembly language
Machine language
High level language

None of these

Which of the following is a web browser?
Netscape

Safari

Opera

All of these

Which of the following is not a chat engine?
Yahoo Messenger

Google Talk

Rediff Bol

ARP

First Web browser is :
Mosaic

Internet Explorer
Netscape Navigator

None of these

T gR FIER B
Eka

Cka

CDAC

T A 1 TE

210 §Ze IR &:
1 MB
1 KB
1GB
1TB

g & q S1-1 uyy Nt B BrgeR w32

ST HTYT
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Voice, Video and data
Only Data

Only Voice

Only Video

E-Commerce, e - learning, e — banking are:
e- services

Internet services

User services

Business services

The first modern telecommunication device was:
Telephone
Telegraph
Computer

Television

ISDN is telecommunication technology for :
Voice

Data

Video

All of these

Hardware is :

Tangible Equipment
In-Tangible equipment
Set of Instructions

Operating System

Digitization is a process to convert any data into:

Binary Digit
Octal Number
Hexadecimal Number

None of these

Which of these is compression technology for
transmission of video?

IPG
PDF

afs, fifsar ik 31T
Fad sTel

Faq @

Faq Afsd

$-prd, $-af, $-afh §:
s-afdae

geee afdde

ToR afdas

IR Ja1g
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Q.No: 80

MPEG

None of these

Which of the following is a Computer Network
Topology?

BUS
CAR
Triangle

None of these

A full duplex modem can transmit data :
Only in one direction

In both directions but only in one direction
at a time

In both directions simultaneously

All of these

In radio, television and cell phone information is
sent in the form of :

Cathode rays
Electric signals
Light

Electromagnetic waves

Expanded form of URL is :
Uniform Research Limited
Uniform Resource Locator
Uniline Resource Labs

Uniform Research Locator

Modem speed is measured in :
Gbps
Tbps
Kbps
Pbps

CERN (European Centre for Nuclear Research)
started www in the year-

1989
1988
1990

MPEG
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Q.No: 81 The term Biodiversity was coined by?

A

B
C
D
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G. Rosen
M. Calvin
Mendel

Hymen L.H

Edaphic factor is related with?
Wind

Soil

Rainfall

Temperature

The following is an Environmental planning
organization?

CSIR
NEERI
ICMR
ICAR

MAB stands for-

Man and Biosphere

Man, Antibiotics and Bacterium
Mayer, Anderson, Bishop

Man and biotic community

Acid rain is caused due to-
SO, and NO,

CO and CO,

CO and SO3

Ozone and dust

Which Pigment in the skin of human beings
protects the body from U.V radiation of Sun?

Haemoglobin
Chlorophyli
Melanin

Thyroxine
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Which pollutant is present in Cigarette smoke?
NO>

Hb

co

All of these

Smallpox, cholera, T.B and dysentery diseases
are caused by-

Air pollution
Land pollution
Water pollution

None of these

The number of species in a single community of
an area is known as-

Alpha diversity
Beta diversity
Gamma diversity

Delta diversity

According to a report of Zoological survey of
India (ZSI) of 2011, in India how many animals
are critically in endangered in India?

96
76
66
56

Rio +20 Earth Summit was held on-
June 20-22,2012
May 02-11,2011
May 02-11,2010
June 20-22,2014

According to a report of CPCB (Central Pollution
Control Board) Which state has highest SO»

value?
Jharkhand
Andhra Pradesh
Delhi

Rajasthan
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BOD stands for-

Biological Oxygen demand
Biological Oxidation demand
Biochemical Oxygen demand

Biochemical Oxygen derivative

A grass land having Scattered trees is known as-
Plains

Prairies

Pampas

Savannah

The best example of plant raised under social
forestry programme is-

Acacia nilotica
Acacia megaxylon
Ficus religosa

Mangifera indica

In the presence of sun light, the oxides of
nitrogen and hydrocarbons combine to form-

Ethyl alcohol
Ammonium Nitrate
Peroxyacetyl Nitrate

Nitric acid

Which gas was liberated during Union carbide
factory accident at Bhopal in 1984?

Methyl iso cyanate
SO, + NO>
NO, + CO5 + CO

Methyl Nitric acid

Which is an indicator organism for water
contamination?

Escherichia coli
Entamoeba coli
Plasmodium

Fasciola
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Name the Bacterium that consumes azo dyes

present in effluent of Textile and dye industries -

Escherichia coli
Pseudomonas
Streptococcus

Acetobactor liquifaciens

Q.No: 100 | Who is known as Indian father of ecology?

A

B
C
D

Ramdeo Misra
Ramdev Baba
C.N.Rao

H.G. Khurana
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